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EFRAS R H S
2021 11 B
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.204 0.007 &
LA i 1.512 0.049 - 0.446 0.109 =
Z/LE (HCD 4.545 0.042 - 0.141 0.096 TE
mIbE (HF) 0.306 0.001 - 0.023 0.018 s
— &b (SO2) 15.147 1.405 - 2.493 1.804 =
—4&bi% (CO) 7.578 0.056 - 0.147 0.084 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.049 - 3.046 1.854 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.025 0.008 &
LA 0.756 0.061 - 0.148 0.108 =
Z/LE (HCI) 0.756 0.060 - 0.125 0.096 s
wAbE (HF) 0.072 0.013 - 0.020 0.018 s
— &b (SO2) 3.789 1.751 - 1.852 1.803 =
—&Ei% (CO) 3.789 0.071 - 0.093 0.084 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.417 -2.191 1.854 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 10°° <6.128 x 1010 &
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EFRAS R H S
2021 11 B
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 - 0.014 0.004 &
LA i 1.512 0.013-0.378 0.066 =
Z/LE (HCD 4.545 0.039 - 0.332 0.244 TE
mIbE (HF) 0.306 0.009 - 0.073 0.039 s
—&AERi (SO2) 15.147 0.000 - 3.643 2.075 TE
—4&bi% (CO) 7.578 0.025 - 0.433 0.087 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.782 - 7.808 1.295 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.006 0.004 &
LA 0.756 0.036 - 0.090 0.067 =
Z/LE (HCI) 0.756 0.194 - 0.290 0.243 s
wAbE (HF) 0.072 0.033 - 0.044 0.039 s
— &b (SO2) 3.789 1.817 - 2.239 2.062 =
—&Ei% (CO) 3.789 0.062 - 0.101 0.087 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.058 - 1.555 1.307 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 10°° <5.840 x 1020 &
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EFRAS R H S
2021 11 B
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.009 0.002 &
LA i 1.512 0.011 - 0.826 0.109 =
/L4, (HCI) 4,545 0.048 - 0.264 0.165 =
mIbE (HF) 0.306 0.009 - 0.065 0.034 =
— &b (SO2) 15.147 0.150 - 3.453 2.065 =
—4&bi% (CO) 7.578 0.004 - 0.157 0.045 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.798 - 8.113 1.921 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.003 0.002 &
LA 0.756 0.041-0.211 0.110 =
Z/LE (HCI) 0.756 0.106 - 0.223 0.165 s
wAbE (HF) 0.072 0.023 - 0.043 0.034 =
— &b (SO2) 3.789 1.787 - 2.207 2.065 =
—&Ei% (CO) 3.789 0.009 - 0.121 0.045 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.137 - 3.269 1.925 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575 x 107 <5.981 x 1010 =
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EFRAS R H S
2021 11 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.010 0.006 &
LA i 1.512 0.000 - 0.879 0.108 =
/L4, (HCI) 4,545 0.040 - 0.486 0.121 =
mIbE (HF) 0.306 0.009 - 0.094 0.035 =
— &b (SO2) 15.147 0.006 - 5.418 1.888 =
—4&bi% (CO) 7.578 0.001-0.179 0.035 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.573 - 6.605 1.373 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.006 0.006 &
LA 0.756 0.050 - 0.214 0.108 =
Z/bE (HCI) 0.756 0.094 - 0.159 0.122 s
wAbE (HF) 0.072 0.029 - 0.041 0.035 s
— &b (SO2) 3.789 1.501 - 2.056 1.886 =
—&Ei% (CO) 3.789 0.020 - 0.054 0.035 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.901 - 2.881 1.378 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575 x 107 <6.004 X100 =
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